NERSIEES N, SN HARID
mE: HAX a0l B g
ol JIEXY LA &S5 (S M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
SEEPNISEN); 93,976,006 98,209,868 A4,233,862
= 1,161,500
s 89,017,000
| 1,300,000
= 2,497,506
SHZXNG a2 & gt 91,728,400 95,448,271 A3,719,871
s 89,017,000
| 1,300,000
= 1,411,400
HZNE gAMI|et &= 60,200 219,100 A 158,900
HZXSG LI FX 8,600 59,500 AB0,900
201 LEr2AH| 3,600 4,500 A900
01 At22telt| 3,600 4,500 A900
OFIXNSE & HRFX 3,600
202 o4t 5,000 5,000
01 =WHO4HI 5,000 5,000
EZXSE g™ RF2 5,000
HEXGW ARA 29 51,600 159,600 A108,000
201 L2 AH| 51,600 159,600 A108,000
01 Ar2eltl 45,600 150,000 A 104,400
OTIXEL AR 2 45,600
02 =24l 6,000 9,600 A3,600
OTIXIL AR 2 6,000
B3NS g 90,538,200 88,249,171 2,289,029
s 88,807,000
| 1,300,000
== 431,200
S+AEXY N (EEXY XE)(=1) 76,028,000 71,124,000 4,904,000
s 76,028,000
403 X XISHHMSK=01A 76,028,000 71,124,000 4,904,000
s 76,028,000
01 AIXIHH K22 76,028,000 71,124,000 4,904,000
SHAETY Y (EZXY ) 76,028,000
s 76,028,000
SH=sMESEZ AA(21) 9,713,000 5,804,000 3,909,000
s 9,713,000
403 XXM SK=01A 9,713,000 5,804,000 3,909,000
s 9,713,000
01 AXIHM =22 9,713,000 5,804,000 3,909,000
OSHN=MEIITZ HE 9,713,000
s 9,713,000
OlEd &2 2tAas XM (=1) 2,895,914 2,923,000 A27,086
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NERSIEES N, SN HARY
mE: HAX a0l B g
el AT g crolm
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
s 2,566,000
& 329,914
403 XXM S KH=201& 2,895,914 2,923,000 AN27,086
s 2,566,000
& 329,914
01 XIXISHH =22 X 2,895,914 2,923,000 A27,086
ORISH &2 2tA435F & At 2,895,914
s 2,566,000
< 329,914
Wz Estol 2 T2 )8 29(=21) 1,300,000 1,250,000 50,000
| 1,300,000
308 AtXISHMSO0I A 1,300,000 1,250,000 50,000
| 1,300,000
01 AIXIHHBAELS 1,300,000 1,250,000 50,000
ooz ate 2 T2 29 900,000
J| 900,000
OOz dato| 2 2t df Z208 29 400,000
| 400,000
SAXNS MeEfgelXl =4(=231) 564,286 0 564,286
ay 500,000
o= 64,286
403 XXM S K=201H 564,286 0 564,286
s 500,000
& 64,286
01 AEXISHXMA=2E X 564,286 0 564,286
OTZXE MEfL|X &4 564,286
s 500,000
& 64,286
HZX G OHEAIE =& 37,000 26,000 11,000
201 Ler23Ad| 37,000 20,000 17,000
01 AtR2telt| 37,000 20,000 17,000
Odst+ald, datod g8 37,000
HZNNE HA S8 L A ES 84,000 388,000 A304,000
oWz St &= MK 84,000 388,000 A304,000
307 QI2H01 ™ 84,000 84,000 0
04 QIZHSHAIAIE E X 84,000 84,000 0
Odsl=Z W2 €2 84,000
SZAY =Al8d A 746,000 6,085,000 5,339,000
=AAAN AHIA DA 245,000 287,500 A42,500
308 XXM SO & 245,000 287,500 A42,500
01 AXEHBLEES 245,000 287,500 242,500
OEZXNE = ZE UYL 43t KA 245,000
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NERSIEES N, SN HARID
ma: HAX a0l B g
el HEXY =AEF e (S M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
Siiel e 54 501,000 579,000 A78,000
308 XXM SO & 146,000 0 146,000
01 IXESHNBLEEXS 146,000 0 146,000
HAXY QAT =4 146,000
403 XX SHHMSK=01M 355,000 579,000 A224,000
01 XXISH =22 X 355,000 579,000 A224,000
3N AARKF =4 355,000
dZNE E435 F=& 300,000 504,500 204,500
s 210,000
& 90,000
HIOH E8ZHEXNSE 2L (A %S+dH HEBRZ? =4)( 300,000 0 300,000
=27)
s 210,000
& 90,000
401 A& BIZL 200 300,000 0 300,000
= 210,000
= 90,000
01 Al&HI 300,000 0 300,000
O2AS+H HEXNFR =4 300,000
s 210,000
o= 90,000
S LEXl 23T A 2,195,342 591,442 1,603,900
= 1,161,500
= 1,033,842
g=uFEY =8 28,000 37,000 A9,000
SdSUFEIAMY FH 7,600 16,000 A8,400
201 L2 Y| 3,600 6,000 A2,400
01 AtR2telt| 3,600 6,000 A2,400
OZAL ESUFEER 23 3,600
202 04d| 4,000 5,000 A1,000
01 =WOdHI 4,000 5,000 21,000
OEg=1Fed HRFA 4,000
=SS 29 20,400 21,000 AB00
201 L2 H| 20,400 21,000 AB00
01 Ar22eltl 11,400 12,000 A600
OAIRA! Xtz ¥ D18l 29 11,400
02 3324l 9,000 9,000 0
OAR4 22/ ¥ 2323 9,000
HotEd J|gt XY 1,638,400 62,900 1,575,500
= 812,500
& 825,900
dotsgdus F4& 13,400 38,400 A25,000
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NERSICES N, SN HARID
I S UK YAT A
Rl gatsde Jlgtay (S M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
201 B2 AH| 3,400 8,400 A5,000
01 AtR2eltl 3,400 8,400 A5,000
O3&X & SLu= 3,400
307 21201 ™ 10,000 30,000 20,000
02 QIRHE &AL E 10,000 30,000 A20,000
OO0l e SLu= 10,000
A3 S SA dY 44X & 2 (=) 1,625,000 0 1,625,000
= 812,500
& 812,500
401 A& HIZL S2CHY| 1,625,000 0 1,625,000
= 812,500
& 812,500
01 Al&Hl 1,325,000 0 1,325,000
OZd S ZiA HH 4X & 2 1,325,000
= 662,500
= 662,500
02 Zeldl 300,000 0 300,000
OZd 8L EHA HH &1 & 29 300,000
= 150,000
& 150,000
Se0IE€=0!l 3t I8t =4 528,942 491,542 37,400
= 349,000
= 179,942
SO0 NG9HSHH 29(21) 331,000 316,000 15,000
= 331,000
307 2I2to| A 331,000 316,000 15,000
= 331,000
10 AlSISXAIEHE2GHIEX 331,000 316,000 15,000
SEH0IEFE NGRS HEH 2 331,000
= 331,000
Seh01g=2IX2 X9gals Xa(=1) 7,000 16,000 9,000
= 7,000
308 AXISHM SOl 7,000 16,000 A9,000
= 7,000
01 HXSHBAEEXS 7,000 16,000 A9,000
O=sl0Ig=aIXI& XEgls XA 7,000
= 7,000
SEOIEF0IXA X983 2E(=1)(HE) 11,000 13,000 A2,000
= 11,000
201 23| 11,000 13,000 A2,000
= 11,000
01 At22telt| 2,400 3,000 A600
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